
1) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

2)
20  Find Volume of 
               19       Cylinder 

Answer: ____________

3) 86 + 39

Answer: ____________

4) 86 + 39

Answer: ____________

5) $238.00 earning 8.1% compound 
interest for 9 years.

Answer: ____________

6) $238.00 earning 8.1% compound 
interest for 9 years.

Answer: ____________

7) $238.00 earning 8.1% compound 
interest for 9 years.

Answer: ____________

8) 64/6 ÷ 33/9

Answer: ____________

9) 57 - 36

Answer: ____________

10) Increase 25 by 16%

Answer: ____________

11) 13 + 45

Answer: ____________

12) 13 + 45

Answer: ____________

13) 13 + 45

Answer: ____________

14) 1700 ÷ 100

Answer: ____________

15) Round 3.094584 to 3 significant 
figures.

Answer: ____________

Copyright 2021 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

March 17, 2021

Sr: 17032021-2101

 

http://www.geekschool.co.uk


16) Increase 10 by 90%

Answer: ____________

17) 182 - 9 - 16

Answer: ____________

18) Solve by factorising 
x2 - 12x + 11 = 0

Answer: ____________

19) 1   1/8 - 1   1/2

Answer: ____________

20) 52 ÷ 1 - 10

Answer: ____________

Total: ___ / 20
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Answers:

1) 1/6 2) 5670.5747397296 3) 125 4) 125 5) $479.74 6) $479.74 7) $479.74

8) 2 9) 21 10) 29 11) 58 12) 58 13) 58 14) 17

15) 3.09 16) 19 17) 299 18) x = 11 or 1 19) 3/8 20) 15
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